
CONCRETE SLAB WITH WALL CLIP:

BASE CABINET TO FLOOR ANCHORS TO BE "TITEN HD" 3/8" X 2" (10MM X 50MM)

WHEN/WHERE AVAILABLE OR MANUFACTURER TESTED AND OWNER APPROVED

SUBSTITUTE.


ANCHORS TO PROVIDE WORKING TENSION CAPACITY OF 250LB/100KG AND

WORKING SHEAR CAPACITY OF 50LB/25KG.


ELEVATION VIEW


A-A


SECTION A-A


MERCH BAY UNIT


"Z" CLIP (GC PROVIDED)


1"X6"X32" (25MM X 150MM X 810MM) WOOD

BLOCKING (PAINT TO MATCH WALL)


#8 SCREWS (GC PROVIDED)


TOP OF LOBBY FIXTURE


7'-3" (2210MM) AFF (VIF)


MERCH BAY UNIT


ANCHOR BOLT OR LAG SCREW (GC PROVIDED)

 - HOLES FOR ANCHOR BOLT/LAG SCREW PRE-DRILLED INTO CABINET FRAME


ISOMETRIC VIEW WOOD FLOORING WITH WALL CLIP:

WHEN PLACED ON WOOD FLOORING, SUBSTITUTE ANCHOR BOLT WITH LAG

SCREW AND SECURE TO WOOD FRAME FLOOR SHEATHING AND JOIST OR SOLID

BLOCKING.  ALL OTHER SPECIFICATIONS STILL APPLY.


"Z" CLIP SECURES TO TOP OF LOBBY

FIXTURE


MASTRENA PUMP ATTACH

TO BACKER BOARD WITH


ASSEMBLY COMPONENTS.


10" x 10" BACKER

BOARD


BARISTA CABINET W/

CUP DISPENSER


FINISHED FLOOR


M
IN




6
" 

1
0
"


NOTES:


1. LOCATE PUMP WITHIN CORD LENGTH LIMIT.  ORIENT WITH PUMP HEAD LEFT, RIGHT

AND AT BOTTOM.  LOOSEN PUMP HEAD CLAMP, ROTATE AND RE-TIGHTEN AS

REQUIRED PER ORIENTATION TO PROVIDE FRONT ACCESS TO FLOW ADJUSTMENT

SCREW.  DO NOT ORIENT WITH PUMP HEAD ON TOP WITHIN CORD LENGTH LIMIT.


2. USE LOCKTITE ON ISOLATOR THREADS.  DO NOT OVER TIGHTEN.


3.  LOOSEN PUMP HEAD CLAMP, ROTATE AND RE-TIGHTEN AS REQUIRED FOR PUMP

ORIENTATION.


4.  BACKER BOARD ASSEMBLY (V401) INCLUDEDS:

(1) BACKER BOARD

(4) T'NUTS, 1/4-20 VENDOR MOUNTED

(8) WOOD SCREWS, #8 - 1 1/4"

(4) NEOPRENE ISOLATORS, KARAMAN RUBBER, RUBBER, K84-60 NEOPERENE

(4) LOCK NUTS, 1/4-20 NYLON

(4) WASHERS, 1/4" FLAT


5. ATTACH TO CABINET W/ SILICONE ADHESIVE & WOOD SCREWS, SILICONE

PERIMETER.


1" x 2" CONT. GALC. STL. ANGLE


SOLID SURFACE BARISTA COUNTERTOP


CASEWORK PANELS ATTACHED

TO DIE WALL WITH CLEAT


SYSTEM


ALL PLUMBING LINES TO BE

MOUNTED 1" (NOMINAL) FROM


WALL FOR CLEANING


FRONTBAR DIE WALL @ BARISTA


CONTINUOUS METAL ANGLE

MOUNTED TO PLYWOOD WALL,


UNDER FINISH PANELS


METAL BASE @ CUSTOMER SIDE


REMOVABLE CABINET BACK PANEL


FRP INTERIOR SURFACE


6" ADJUSTABLE METAL LEGS


VARIES; 1/4" PER FT. FALL

(ABS 2" WASTE LINE)


1'-5" AFF (HW SUPPLY)


1'-6" AFF (CWF SUPPLY)


1'-7" AFF (CW SUPPLY)


2'-2" AFF (ELEC. J BOXES)


2'-10" AFF (COUNTERTOP)


TILE BASE @ PARTNER SIDE


2" 4' - 0" 2"


1
' -

 2
"


1
1
 1

/4
"


1
1
 1

/4
"
 1

' -
 2

"


3 1/2" 1/4" 3 1/2" 1/4" 3 1/2" 1/4" 3 1/2" 1/4" 3 1/2" 1/4" 3 1/2" 1/4" 3 1/2"


1' - 1" 2' - 2" 1' - 1"


1
/2

" 
4
 1

/2
"


5
"


1/2" 4' - 3" 1/2"


4' - 4"


PLAN


ELEVATION


7


I-5002


WOOD WD0077


WOOD WD0077


5
"


2 1/4" 1/2"


1
/2

" 
4
 1

/2
"


3
/4

"


3/8" 1" 1" 3/8"


2 3/4"


6
" 

6
" 

1
/2

" 
5
 1

/4
"


1
/2

"

1
/2

" 
5
 1

/4
"


1
/2

"


1
' -

 0
" 

WD0077

MAD101


1/2" 6" 1/2" 6" 1/2" 6" 1/2" 6" 1/2"


2' - 2"


1/2" 1' - 0 1/2" 1/2" 1' - 0 1/2" 1/2"


8


I-5002


1
/2

"


4
"


1/2" 5" 1/2" 1/2" 5" 1/2"


METAL TRIM TO ATTACH

INSTALL 3" FROM EDGE


3/8" 5 1/4" 3/8" 3/8" 5 1/4" 3/8"


1
/2

"
 2
"


1' - 0"


METAL BOTTOM TRIM

PER DETAILS


METAL CORNER TRIM

PER DETAILS


HARDWOOD SLAT


1/2" PLYWOOD BACKER


HARDWOOD SLAT


CUSTOMER FACING SIDE


CABINET INTERIOR SIDE


ELEVATION


.
3
/8

"

.
 .
 .
2 5/8" 1/8" 2 1/4"

. 3
/1

6
"


. 
3

/1
6

"

20 STAVES, RANDOM STAGGERED BUTT JOINTS


3' - 11 3/4"


3' - 11 1/2" BACKER


2
' 
- 

3
"


A


NOT TO SCALE


ENLARGED SECTION PROFILE

A


TYP.


2 1/4"


BUTT JOINT AT

CORNER


STEEL TRIM AT

BOTTOM AND

TOP OF

PANELS, TYP.

(U.O.N.)


HARDWOOD

SLAT


TYP.

1/8"


TYP.

1/4" TYP.


.
7/8"

GAP FOR Z-CLIPS OR BLOCKING


DIEWALL, TYP. OR CABINET

1/2" PLYWOOD

BACKER


DUBIN


PETER A.


No. 2573


S

T
A
T
E
O
F
 M
A
I


N
E



L

I
C
E
N


S
E
D
 A
R
C
H
I
T
E

C
T




Engineering Consultant


ENGINEER OF RECORD


Fax  (314) 772-0108


St. Louis, Missouri  63119


Phone (314) 772-1782


353 Marshall Avenue


William J. Alkemeyer, P.E.


2401 UTAH AVENUE SOUTH

SEATTLE, WASHINGTON 98134


(206) 318-1575


SHEET NUMBER:


SHEET TITLE:


SCALE: AS SHOWN


STORE #:


ISSUE DATE::


PROJECT #:


PROGRAM MANAGER:


DESIGNER:


PRODUCTION DESIGNER:


CHECKED BY:


P
R

O
J
E

C
T

 N
A

M
E

:


P
R

O
J
E

C
T

 A
D

D
R

E
S

S
:


STARBUCKS COFFEE

COMPANY


RLEED    AP:


C   2015 STARBUCKS

     COFFEE COMPANY


R


THESE DRAWINGS AND SPECIFICATIONS ARE

CONFIDENTIAL AND SHALL REMAIN THE SOLE

PROPERTY OF STARBUCKS CORPORATION,


WHICH IS THE OWNER OF THE COPYRIGHT IN

THIS WORK.  THEY SHALL NOT BE REPRODUCED


(IN WHOLE OR IN PART), SHARED WITH THIRD

PARTIES OR USED IN ANY MANNER ON OTHER

PROJECTS OR EXTENSIONS TO THIS PROJECT

WITHOUT THE PRIOR WRITTEN CONSENT OF


STARBUCKS CORPORATION.  THESE DRAWINGS

AND SPECIFICATIONS ARE INTENDED TO


EXPRESS DESIGN INTENT FOR A

PROTOTYPICAL STARBUCKS STORE (WHICH IS


SUBJECT TO CHANGE AT ANYTIME) AND DO NOT

REFLECT ACTUAL SITE CONDITIONS.  NEITHER


PARTY SHALL HAVE ANY OBLIGATION NOR

LIABILITY TO THE OTHER (EXCEPT STATED


ABOVE) UNTIL A WRITTEN AGREEMENT IS FULLY

EXECUTED BY BOTH PARTIES.


STARBUCKS TEMPLATE VERSION  i2016.12.23


325 N. LaSalle St.   Suite 500   Chicago, IL 60654


NORR
ARCHITECTS PLANNERS


t 312.424.2400                                www.norr.com


I  
S

 S
 U

 E
  
 F

 O
 R

  
 C

 O
 N

 S
 T

 R
 U

 C
 T

 I
 O

 N
  
  
0
 8

 /
 2

 3
  
/ 
2
 0

 1
 7




8
/2

3
/2

0
1
7
 1

2
:3

7
:2

9
 P

M



P
:\
R

e
s
ta

u
ra

n
t\
S

ta
rb

u
c
k
s
\N

IC
H

1
7
-0

1
3
0
 -

 S
ta

rb
u
c
k
s
 -

 P
o
rt

la
n
d
 -

1
0
8
0
 F

o
re

s
t\
5

0
0
-D

e
liv

\B
IM

\0
1
-W

IP
_
M

o
d
e

ls
\M

E

-

 P
o
rt

la
n
d
,

1
0
8
0
 F

o
re

s
t

A

v
e
_
P

e
rm

it 
s
e
t.
rv

t


I-5002


37548-037


08/23/2017


P
O

R
T

L
A

N
D

, 
1
0
8
0



F
O

R
E

S
T

 A
V

E
.


1 0
8
0
 F

O
R

E
S

T
 A

V
E

N
U

E



P
O

R
T

L
A

N
D

,  
M

E
 0

4
1
0
3



C
U

M
B

E
R

L
A

N
D

 C
O

U
N

T
Y




11917


A. LEE


E. VEGA


P. BENVENUTO


N/A


DESIGN DETAILS


J. BOND


R
E

N
O

V
A

T
IO

N
 O

F



S
T

A
R

B
U

C
K

S
 C

O
F

F
E

E



Scale:  3/4" = 1'-0"

1


MERCH BAY WALL BACKING


Scale:  1 1/2" = 1'-0"

2


PUMP ATTACHMENT


Scale:  1" = 1'-0"

3 

WALL SECTION AT DIEWALL


Scale:  3" = 1'-0"

6


X0036 POS SHROUD

Scale:  6" = 1'-0"


7

X0036 POS SHROUD SECTION


Scale:  3" = 1'-0"

9


X0037 IMPULSE TRAY


Scale:  3" = 1'-0"

8


X0037 IMPULSE TRAY - SECTION


Scale:  3/4" = 1'-0"

4


FINISH APPLICATION - VERTICAL SLAT WITH REVEAL


Scale:  12" = 1'-0"

5


ALTERNATE CORNER DETAIL - VERTICAL SLATS WITH REVEAL


Revision Schedule


Rev Date By Description


10/27/17

http://www.norr.com

	Sheets
	I-5002 - DESIGN DETAILS


